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PART-A

(Answer all the Questions 10 x 2 = 20 Marks)
Define Standard form of LPP.
Define Slack and Surplus Variable.
What is an Degeneracy Transportation Problem.
What is mean by Unbalanced in Assignment Problem.
Define sequencing.
Write assumptions of sequencing.

Define Saddle point.
Define Payoff matrix. .
Define Total float.
Define Pessimistic time.
PART-B
(Answer all Five Units 5 x 10 = 50 Marks)
UNIT-I

Solve the following Linear Programming Problem using Graphical
method. Maximixe
z = 6x, + 8x,

Sub. to
X1 +x, =26
7%y + x5, = 14
X1,% 20
OR
Solve the following Linear Pro grammmg Problem using Big-M method.
Maximize
zZ = 6x1 + 4x,
Sub. to

2x4 + 3x, <30
3x; + 2x, < 24
X +x; =3
X1,% 20
UNIT-1I
Obtain the initial basic feasible solution by using VAM to the following
Transportation Problem

D; D5 D; | D4 | Supply

01 3 1 7 4 i 300
0, |2 6 5 9 400
0O; |8 3 3 2 500

Demand | 250 350 400 200

Max. Marks: 70
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A company has four salesman targeted at four cities.the profit per day in

rupees for each salesman in each city is given below. find the

b assignment of salesman to various cities which maximses the total Cco2 LS 5s5M
profit
SALESMAN
1 2 3 4
CITIES | A 16 10 14 11
B 14 11 15 15
C 15 15 13 12
D 13 12 14 15
OR
5 Solve the following Transportation Problem CcO2 L3 10M
Dy D, Ds Dy Available
0, 8 10| 7 6 50
0, 12| 9 4 | 17 40
03 9 11| 10| 8 30
Require | 25 | 32| 40| 23
[UNIT-111
6 We have five jobs,each of which must go through two machinesAand CO3 LS 10M
B in the order AB.Processing the times(in hours) are givn below
JOBS 1 ) 3 ol 5 |
MACHINEA | 5 1 9% 3 10
MACHINEB | 2 ) 77 8 4
OR

7 Four jobs are to be processed on each of theS machines find the total CO4 LS 10M

minimum elapsed time if no passing of jobs is permitted also find the

idle time for each machine.

MACHINE JOBS
1 [ 2 3 4
A 7 6 5 8
B 5 6 4 3
C 2 4 5 3
D 3 5 6 2
E 9 10 8 6
|UNIT-IV]
8 a Determine the optimal strategy for company A and company B
Company B
20 15 22
Company A |35 45 40
18 20 25

Co5s L1 M

Page2of 3



A b Consider the given payoff matrix with respect to player A and solve it

* Optimally
Player B
6 9 -
Player A
8 4
OR
9 Consider the payoff matrix of player A and slove it optimally using
graphical method
Player B

1 2 3 4 5
Player A 1 3 0 6 4 7

-1 5 2 2 1

2

UNIT-V
10 Consider the following data for the activities of a project

Activity AlB|C D} E F G|H|I|]J
Immediate |- |- |A |B |B |B CD|EI|F |F
predecessor ) ; i
Duration |5 |4 |8 8 8 S 8 . (22 §2 |12
(Weeks) 2
OR
11 A Project consists the following activities and Different Estimate times
Activity Optimisti time | Maostlikely pessimistic
{ime gime
12 1 4 13
1-6 2 5 14
2-3 2 14 26
2-4 2 5 8
3-5 7 10 19
4-5 5 5 17
6-7 5 8 29
5-8 3 3 9
7-8 8 17 32

Draw the project network and find probability of the project
completing in 40 days
*%k END E2 3
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